le \2: \1

X 20 .
L\m (5>< 3S) (ZX) (3¢(- ’L\‘\‘S) (’Z( [« ) ?;(fé‘rs,) \-4)
=11 A)=A) |

H 5 53+ 3x2F X ﬂ) (x—uo] *
x> £8 ’ ‘(5( -§)%+ 3 (- 1"(—3]""‘9) (("37'“0)

(S (-512)+3 64)»,( gjtx) (64710)

~=f2; 560+mz 8+4)(°r4) -

E=TEE B S68 1 /97)(341 |
s '—(—23.46:)(%4]_. [3S 306/ -

| 3x-+5)'(3 "‘5')"7“5' ”/
>,§m73F | T T | BN

-“.'



2 .
Lim 2X#3x (2020 +3(2)__2(4)16 . 9+6 - M.
Pt g (S L Qg T

Lirn ____XZ" s (X% 2 )(X,ffz) _txvrs et 2= 4 /

Ly X< 7 _ [x+3)(x4 X13) = 343 = 4/
W A >*7:(’3 - L..J a /7/ /
| S T AREEY sl =Frre Js
 Lim X5, (X3 (x#5) =515 jof
= T e ) B3]
; L/m Kffi i (K’f/él} i '# :_:,2{_)_:’ ‘;{f“@/
;' K] K1Y (x4 1(x) (X~4) '
: B ij ghi EaSeI BRI (X'\gj ] »,_)__._:/,'Z .
i ‘ 18 818 —
: x> X ed) [x + 6} [7‘!-“8\ [REE) 1.8
]
y

Escaneado con CamScanner



Fig X TOXEYY i gds) mECe)s
Xefyg TES - R TRES O
:O\—-G—-\S.__gv“"ll & \z\
o <) -
Uity }7’-~7,>< T

%20 =,

Escaneado con CamScanner



